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DATE PERIOD

Write and Graph Inequalities C) D Dg

) Write an inequality for the sentence.

Example 1

Fewer than 70 students attended the last dance.

Words Fewer than 70 students attended the last dance.

Variable Let s = the number of students.

Inequality s< 70

RELLIEPE Graph each inequality on a number line,

a.x>8 b.x<8
T O——— ;

6 78 9 10 6 7 8 9 10
The open dot means 8 does not The closed dot means 8 does
make the sentence trie. The make the sentence true. The graph
graph to the right means that to the left means that numbers
numbers greater than 8 make less than 8 make the sentence
the sentence true. : true. :
" Exercises

Write an inequality for each sentence.
1. The maximum height % is 45 feet.

2. The weight m of all adult male elephants is over 12,000 pounds.
3. The maximum fee f for any student is $15.
4. You must be at least 38 inches tall to ride the roller coaster.

Graph each inequality on the number line.,

S.x>17 6.s>5 N 7. m < 2

5 6 8

8.fs; 9. r>11
- ! | mﬁ%
——f—= T 1 i
5 7 8 9 10 \‘1-1/ 12
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skills practice

, Write and Graph Inequalities -

Write ant inequality for each sentence.
ed the opening football game at the University

1. More than 40,000 fans attend:
X7 OO

of Florida.

9, Her earnings Were no more than $86.
| X L5
$550.

g, A savings account palance is nOW less than
E

of club members is at 1east 25.

4. The number
alves that weigh 825 p

ounds or less.

e cattle show is for ca

5. The gpring calf class at th
X 4830

a new checking account 1s $75.

6. The minimum deposit for
X =>T5

Graph each inequality on the number line.

7.0.48 8. d <4

H\) .
7 ¥ g 10

10.X>3 1Lx<3

-\J
—t—" 6‘15 é ’ )
i 8 10 1

x>10 14. X2 6
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P

 skills Practice
solve One-Step Inequalities

Graph the solution on aumber line.

i ality.
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Chantal would like to buy 2 new pair of running shoes. The shoes she likes

17 SH(:)PPlNg85 £ she has already saved $62, write an inequality to show how much
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Reteach
Two—Step Inequalities

Four more than 3 times a number is less than 28. Write, solve, and
graph an inequality to represent this situation.

Words Four more than 3 times a number is less than 28.

Variable Let n = the number.

Inequality 3n +4<28

2 = — v

3n +4 < 28 Write the inequality.

3n +4 < 28 Subtract 4 from each side.
-4 -4

3n < 24 Simplify.
& _3§n_ < 23—4 Divide each side by 3.

n <8 Simpiify.

e e e

The solution is n < 8. To graph it, draw an open circle at 8 and draw an arrow to the left on
the number line.
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o 4
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“Exercises

Write, solve, and graph an inequality to represent each sentence.

1. 25 is less than 10 more than 5 times \ v I3

a number. or . pi j ' \
b et
2. Eight less than 3 times a number is -, A . e
greater than or equal to 10. 4 ;
) Sk A v 7 L /
3. Five more than 6 times a number is g VI :
less than or equal to 29. / q 3 9 5
s £ n
4. PEDAL BOATS It costs $25 plus $6 per | 1% gy /
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hour to rent a pedal boat at the lake. 1
The minimum fee is $43. What is the
minimum number of hours for which

you can rent the pedal boat?

25 +HoX 243
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skills Practice

; Two-Step Inequalities

P Solve and graph each inequality.
It 1.12> 6 + 2n |
II{ & ,(:2 /(_ﬁ ) ..-’-"_IJAII-"I I | -
18 7220 ( N = 5) 2 & 4 5
| f i, _ e /'
270
2.4n-72= 2_1? .
i; . ___j i |
{n > 28 Q £ 7
L {_{’ - =
3. 5n - L1‘5 > 29 - ~
+\2_ He . T A )y -t | ;I"‘: ezl
~ 50745 >4/ T s o’ 10 A
4. 24 <12+ 3n _ '- N \
) L\ ) | L o
PEART: 2z T o
,j N i| ’//-//
5.2n -9 = 1;’2
+a 9 : )
In 2 3% 1\/y
7 2 ( N+
6. 56 > 6 + 10n N
_'LQ L — ! fvf')/ !{}{\ 1 f f e
< 7 1RO N L. W 4 5 8 7
T—:_ ( I | ‘3'._/] P
7. SALES Eric gets ps;ici'$7 for each hour he works
at the electronics store, plus an extra $2 for . e
every store membership card he sells. How — 1 / T D
many memberships does he have to sell if he 4 5 L__ﬁ.-"/ 7 8 ,;_?'"

wants to make more than $40 foriw_grking
shours?  7(U) +ANX > Q A7/ N (UL AP
. . ; ) - f ’ { ) Y

At 1AY 7 e’
8. CONTEST In a class contest, students get

8 points for each book they read plus an X

extra 5 points for each book report they ; | N\
0 o I (iR A I E'f'"“'“

write. If a student reads 3 books and o 1 7 3 04/

wants at least 34 points, how many reports
does she have to write? . -~ |
~ S 34
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Simplify each expression.
1. 4a + 7+ 24

¥
|

4 (w + 3)7

z '_a/,“)—\«c;\

7. -4 + 3(6 + k)

+1&+3K
U+3LD

10. 9 + 8(x + 6)
~q+%x+3& |
(EXA 42)

3. 4y -7 +8 +4—5

lav- €

16. 7(e — 8) + 12 — 2e

7@ Slo ¥l &6
Re — L/‘/

ceo

14.

Date

000090090906000000000000

8k - 9) -

L

5(b - 6) + 9

.-ii ) T & \ ‘

12/ — 9§

(%)

. 4m + 6) — 3

Umt ad -3
“Am+A0)

S5(g+8)+7+4g

sq+U§ +7+49

7. 3y +7+y+6y

(2.3 m +Jfgff

Simplifying Algebraic Expressions

3. 5n + 6n — 2n

“4n D

6. —4 + 82 + 1)
Jr Lt 66
(at5t

9. 6(d — 8)

lod - 48 D

S
12. 27 + 2(f — 19)
(7 38
$°-3
b ) f—t J &

24 -1

15. 12h - 17 - h + 16 — 24

(Gh-V)

18. (32m +1.8) = 1.07m
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4a - 28b
4(a - 7b)

7a - 42z
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